54. “LMSIEMISE I|meTeumll — meoTblsorehGa
LI6m&6LI60)IE(S) I|(THETEULL” 6T6aTM)| LITLpLLINT

A @nmoedinis ojleseT B urGeub st
C unrell&sarast D Uy
55. oihems
A &5 B 9emid C g&ab D &eb
56. ‘iflahisn’ srearudled ‘SHifl’ erearm Glamed 2 smari&GID WHHSIL GummeTseflsr
giflwmeer euflemaemiug Caimb6ls 0
A en@E, 58, S0l B &5, g, Hilledl
C &5, S, Lher@ D &6, &5, e

57. ‘sUilfle) a6 SgIssT GrgsLn
A 12 B 18 C 30 D 247

58. ‘Limemey LIMgW eumuTed 6p(h Casmemeu LIM(pa” — wim wimflLb GasLLmit

A SauGugpLomest ULl Lb B dleuGugmumer snhsriflid
C HeuGmLomsar D &leuGugmLomer sblomhsifl L
Lomssefl& s eumgssifliLLb

59. siflflsb 2011-9y b gy emoTeM&TeT ‘FTHSWYSTOSH ailmgIGLDMeaT
A Uguerssr B & GouiisGLassr  C  Gueomemoremn D mmEhaleummLeor
GumstregemAl

60. mrem&s SigsT GLTSELD
A 2 B 8 C 4 D 16

iii. Language II - gymidlsd — English

Choose the correct word to fill in the blank in the sentence

61. He met European in Mahabalipuram last week
A a B the C an D any

61. What is the time your watch?
A in B by C at D on

63. When I reached the station, the train already.

A went B had left C has beenleft D has left



64. In the formal letter the ‘subscription’ is

A Yours sincerely, B yours sincerely,
C Your’s Sincerely, D Yours Sincerely,

65. We use between the clauses

A fullstop B colon C comma D semi colon

66. A quick gathering of information from the text is known as

A skimming B scanning C reading D browsing

67. The letter T’ is pronounced when followed by a

A diphthong B vowel C consonant D semi-vowel

68. Choose the right tag
She never tells lies, ?

A doshe? B don’t she? C does she? D doesn’t she?

69. Find the correct spelling: - identify the word

A occurrence B ocurence C occurrance D occuranse

70. The Headmaster organized a tour to Ooty. Identify the pattern of
this sentence.
A SVO B SVC C SVOA D SVIODO

71. The play ‘Merchant of Venice’ is written by
A William Wordsworth B Rabindranath Tagore
C T.S. Elliot D William Shakespeare

Choose the correct meaning for the given idom:
72. He was an old hand at the work
A experienced person B he had an old hand

C old man’s hand D in-active person
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Fill in the blanks choosing the correct word

73. The cry of a duck is ‘quack’. The cry of a frog is

A growl B grunt C scream D croak

74. The movement of the eye is called regression

A forward B sideward C backward D saccadic

75. ‘Writing of Informal letter’ is introduced in class

A five B six C four D three

76. They living here since 1999
A havebeen B hasbeen C are being D have being

7'7. The main verbs take forms / inflections

A eight B five C three D four

78-81 In the following passage there are blanks which have been
numbered from 78-81

Against each number a choice of four words marked A, B, C, D
is given, one of which fits the blank appropriately. Choose the correct
answer.

One of the hardest skills in a foreign language 78 telling an
interesting story or anecdote. Learner of English often feel left out
when socialising 79 groups of native speakers and everyone else is
80 stories except them. It is a good skill to learn. Everyone likes to
listen to stories and a good storyteller quickly becomes the centre of
any group. And talking about your experience is one of the 81 ways to

build up a relationship with someone.

78. A are B is C was D were

79. A with B on C in D over
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80.

81.

82. China is more thickly populated than India. Choose the positive

A tell B tells C reading D telling

A Dbetter B good C best D most

degree for the given statement.

83.

84.

85.

86.

India is as thickly populated as China
India is more thickly populated than China
India is so thickly populated as China

g o w »

India is not so thickly populated as China

They will miss the train unless they hurry. (Rewrite using ‘if))
A If they will hurry they will miss the train.
B If they will not hurry they will miss the train.
C If they do not hurry they will miss the train.
D If they hurry, they miss the train.

ABL method helps the learners to

memorize English structures

be playful during the class
depend on the teacher all the time
learn with freedom

ogow»

‘Each’is a pronoun

A distributive B indefinite C demonstrative D relative

Sounds that do not produce vibration of vocal chords are called

87.

88.

A approximants B voiceless sounds
C voiced sounds D the plosives

A supplementary reader is meant for
A Intensive reading B Extensive reading

C Global comprehension D Local comprehension

The diminutive from of root is ‘rootlet’. The diminutive form of
goose is
A gosling B gooseling C gooselet D goosenet
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89. Correct word for the phonetic transcription / b3:d / is

A bird B birdie C bard

D beard

90. Complete the sentence by choosing an appropriate word.

Old people sometimes feel that young people don’t

them or pay them enough respect.

A valuables B  valued C values D value
iv. semflgld — Mathematics
91. 66/2—12+(14x2)/7 + 3% 6ir &y
A 32 B 30 C 34 D 42
The value of 66/2 - 12 + (14 x2) / 7 + 32 is.
A 32 B 30 CcC 34 D 42
92. SupsserL Ulsrermiseafle Lsg g 61g) ?
A 24/25 B 63/78 C 69/72 D 52/57
Which of the fraction is least?
A 24/25 B 63/78 C 69/72 D 52/57
93. 7 x 8 2 L 6tT 6TM&HE Gn L lg6wTed 7 X 9 v SH(GLh.
A 1 B 7 C 56 D 63
What must be added to 7 x 8 to get 7 x 9?
A 1 B 7 C 56 D 63
94. umL& GMILlenetr alpelEBLOLILIGUIT
A savaSlumarisser B gewsvsoLownrIflur
C wum g8l 1 & Gupaisori D  au&GLrfinser
Lesson Plan is designed by
A Educational Experts B Headmasters
C Syllabus committee D Class teachers
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